AZ 2R oA (X2 9/4 %7 2)

A= = AR N = S R (The] : H )
poryy f2 | TR AT NERE 5% AE 20179 (A) | 20161(B) | 7 (A-B)

3 98,752,558 93,606,539 5,146,019
Zs 98,752,558 93,606,539 5,146,019
LI T Y 93,421,214 90,236,309 3,184,905
NAALL L 3,236,817 2,956,091 280,726
A upE 9 =7t} 20,950 18,600 2,350
A ZEAA5A L 20,950 18,600 2,350
L AT FATHSERA 19,950 17,600 2,350

7h AR FAATAF 10,400

1) $98% 210-01 |29,0009 X 20% x 53] = 2,900

2) A5 A= 210-01 |6,0009 X 350%= 2,100

3) Al xta 210-07 600,000 x 8t} = 4,800

4) Ak (L) 600

71 7] 310-01 |100,00091 x 47 = 400

W =3 310-01 |50,00091 x 47 = 200

U A TAr 4,800

1) £98% 210-01 |27,5009 X 40%F x 23] = 2,200

2) A2 A= 210-01 |5,0009 X 80% x 28] = 800

3) A7 210-07 600,000 x 2t} = 1,200

4) 7R (4D 600

71 7] 310-01 [100,0009 x 27 x 23] = 400

W) 23} 310-01 |50,0009 X 21 X 24| 7h= 200

o}, R a9 WS- H) 210-01 |250,000¢ x4 x 23] = 2,000

ek gdsts e 2,750

1) $98% 210-01 |30,0009 x 30% = 900

2) YAL57AH] 210-01 |15,0009 X509 = 750

3) A2} 210-07 |600,0009) x 1t} = 600

4) 73R (AR 500

71 7] 310-01 |160,00091 x 2% = 320

W) %3 31001 90,0009 x 21 = 180
2. AT FAR Bstas 1,000 1,000 0

7h AR S S 1,000

1) w47 210-01 |500,0009 x 2 = 1,000
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il s B e eSS R A Sl R B (9] - )
= [e) 1=}
woprgy 13 | 3| AT NERE %A AEH 20174 (A) | 20169B) | Z%(A-B)
TYQAALTEE 10,286 5,406 4,880
IR ) 2,130 2,130 0
1. AAZ A 2,130 2,130 0
7F 2 E EA 2,130
1) #FXed 210-06 80,0009 x 8™ x 23] = 1,280
2) EA45 210-06 |50,0009 x 47 x 23] = 400
3) ¥ 23 230-02 |15,0009) X 107 x 33| = 450
TYQAAA 8,156 3,276 4,880
1 AAHAD) A28 29 690 690 0
7h. A JAALS] A 3] 690
1) X5 210-06 |80,00091 X 17 x 33] = 240
2) ¥2]3 230-02 |15,0009 x10% x 33]= 450
2. AN 432D 416 416 0
7h. A 9123l 416
1) $ojax 210-01 |12,0009 x 8% = 96
2) FA5G 210-06 |80,0009¥ x 1% x43]= 320
3. dsaA L} 1,910 1,030 880
7h A HIEE 7 (A ) 390
1) $98= 210-01 |10,0009 X 7%= 70
2) AA 4 210-06 |80,00091 x 21 x 23] = 320
. wdsHEE (&) 1,520
1) Sodgx 210-01 |20,0009 x 16% x 23] = 640
2) ZA 210-06 |80,00091 x 47 x 23] = 640
3) AESY 210-06 40,0009 x 27 x 33] = 240
4. YA TEZ=2 5,140 1,140 4,000
7h A JA R 5,140
1) $98F 210-01 |22,8009) X 10% x 58 = 1,140
2) AESY 210-06 40,0009 X 107 X 103] = 4,000
A E YA A 1,700 1,700 0
X ¥} L5 ¢ QAL H 7 1,700 1,700 0
L A FAdAA A A 4 1,700 1,700 0
7F. QA 2 3] 1,700
W = FoBlRTE U — AL - AT AT - A A gAY 2/51




s I = eI RN Smis R (The] : H )
= o \=]
Eopn g f};; ?};3 flgg PRSIRE == AESE 2017 (A) | 2016W(B) 7 (A-B)
1) Aok 210-06 80,0009 % 21 x 53] = 800
2) 23 230-02 |15,0009 x 12 x 58] = 900
B AT QA = 2,725 4,640 21,915
8] A T2 QAL A 2,725 4,640 21,915
1. 25 Z A YA 1,005 2,920 A1,915
7h WA RIS A 3] 1,005
1) FAgor 210-06 80,0009 X 11 x 63| = 480
2) 93 230-02 15,0009 X 7% x 53] = 525
2. AT FA LA FASF 1,720 1,720 0
7h, WA AR A 1,720
1) $ag= 210-01 |33,0009 X 21% % 28] = 1,386
2) = 210-01 [14,000€ x 30}l X 2A] 3= 84
3) AAFrE (LR 250
7 71& 310-01 [160,0009 X194 = 160
W) x3 310-01 |90,0009¢l x 17§ = 90
A QE ] JA7) A= 3,201,156 2,925,745 275,411
ZHYAER XY 3,201,156 2,925,745 275,411
1. ZFAFAQIAE A Y 3,201,156 2,925,745 275,411
7h, WA AR A ¥ A 2 3,201,156
1) 71#+ 110-02 [1,601,0909 x99 x 129 = 1,902,095
2) A7 LRI 110-02 206,12091 x99 x 129 = 244,871
3) 7= 110-02 |71,6809 x66% x 1249 = 56,771
4) A 8HH| R 22} 110-02 [369,8109 X 147 x 427 = 20,710
5) WE X ZH] 110-02 60,0009 x99 x 12€ = 71,280
6) A1) 110-02 (80,0009 x99 x 12¢ = 95,040
7) Axpor 110-02 |1,120,8609 x99 = 110,966
8) A7y 110-02 500,000 x99 = 49,500
9) WA 110-02 |1,000,0009 x 997 = 99,000
10) =8 2] 240-02 400,000 x99 = 39,600
11) §A2= 320-04 |2,444,9209 x99 = 242,048
12) =mol= 320-04 |1,204,6409 x99 = 119,260
13) AR 320-04 (819,160 x99 = 81,097
WH = FolREFEUH — AAAALE - wAABA G DA - wA AR A Y 3/51




D )
ﬂ:g Absiul < Al AEU A 2017 (A) | 20169 (B) (A-B)

14) =378 kn 3 320-04 53,6509 %999 = 5,312

15) 18413 320-04 |401,540¢ x99 = 39,753

16) AHA| K3 320-04 |240,9309 x99 = 23,853
2,588,549 1,855,390 733,159
-3 549,060 44,540 504,520
A s N 12,080 9,900 2,180
1. 257599 6,530 6,520 10

7F S22 5,930

1) $98% 210-01 |30,5009 X 15% x 83] = 3,660

2) A=A 2 210-01 |6,0009 x 200%-= 1,200

3) AAME T} 210-06 |70,00091 x 7 x 23] = 980

4) o) 3 230-02 15,0009 x 67 = 90

LA Al S R o e 600

1) £&w 620-03 |600,0009 x 13= 600
2. B8 3F X9 3x Y 5,550 3,380 2,170

7 AE e dAsZE a9y 1,440

1) Ak (dyh) 800

7h 7)1 210-06 |100,000€ x 19 x 43] = 400

) =3 210-06 |50,000€ X 17 x 8|7} = 400

2) 2] 310-01 |7,0009 x 407 = 280

3) 7+ 310—-01 |3,000¢] x40 x 33| = 360

L}, mhgku A o Ab3Ey) 7 A E ) 4110

1) $98x 210-01 |20,0009 x10%= 200

2) A=A 2 210-01 |7,0009 X 100% = 700

3) 9] 3 230-02 |15,0009 X7 x 23] = 210

4) =538y 620-03 |600,0009 x51= 3,000
THAENARF 28,580 27,060 1,520
1. A3 AR S g A et e F 28,580 27,060 1,520

7h. A3 A o sh AR S 28,580

1) $98% 210-01 |20,000€ X 20% x 23] = 800

2) A=A = 210—01 3,000 % 3,300%- % 28] = 19,800

3) AETS 210-06 40,0009 X144 x123] = 6,720

B4 - BE-AHBEAD - RPN - wAARALRF 4/51




Absiul < = A= AEU S 2017d(A) | 2016€(B) | % (A-B)

4) ¥2l3] 230-02 15,0009 X 147 x 63] = 1,260

A= B O 508,400 7,580 500,820

PTG 4 508,400 7,580 500,820
7h St g 914 3l 1,380
1) WA 210-06 40,0009l x5 x 33] = 600
2) FA-r 210-06 (80,0009 x 2% x 33]= 480
3) & 2] 3 230-02 |15,00091 x 107 x 28] = 300
. galst Ak gl ATy 3] 1,300
1) 938 210-01 |50,0009 X 15% = 750
2) ZdArr g (duh) 250
71 7] 210-06 |160,000¢ x 13 = 160
W) %3 210-06 90,0009l x 1% = 90
3) &o)3 230-02 15,0009 X208 = 300
oh. WA Al ot el £ 1120
1) $94% 210-01 |20,00091 X 13% x 23] = 520
2) & 2|3 230-02 |15,0009 x 207 x 28] = 600
gk At uAd Y 800
1) A-E s 210-06 50,0009 x 108 = 500
9) &9 3| 230-02 (15,0009 x 107 x 23] = 300
oh Al SR B A A E A A9 1,000
1) $3g= 210-01 |10,0009 x 11 x 38 = 330
2) ZAr (M) 290
71 7] 210-06 |160,000¢1 x 1% = 160
) 23 210-06 90,0009 x 1= 90
3) Aln] 310-01 |7,0009 x 157 x 43]= 420
uf. st s Al o}t v 2800
1) $98x 210-01 [20,0009 x 10 x 43] = 800
2) A (51E) 2,000
71 7B 210-06 |160,0009¢ > 27 x 43] = 1,280
W) x3 210-06 90,0009 x 278 x 4] 7= 720
A AL FHE Y 200,000
D FeEAHEE A 24,000
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SERE

AFd
7h HA &SR
(D) 2DARZR AN

(7) AHA K3
) Ak A w5 Al
(1) $398¢=
(2) 7H211]
(3) AAr
7h 71+
W) =7
(4) Hel3

o

.

o

(WP Al
) SR EEAAd
(1) +98F
(2) AEH|
(3) 2kAu]
(4) 2]
(5) BAtr
th Ao At T34 9

(1) =&

11,0009 X 27 X 59A]1 1k x 10€
49,0009 x 10%&=

3,0009 X307 x 153 =
500,000 x 1t x 23] =
15,0009 X 20 x 33] =
7,000 X 30 X 153] =
13,000,0009 x 1%=

6,0009 X8%F x103] =
3,000 X 207 x 163] =

160,00049 x 474 =
90,000 x 478 =
10,0009 X507 x 23] =
70009 X 207 x 43] =

1,000,00091 X 403.=

1,000,0009 X 51.=
1,000,0009 X 51.=

10,0009 X 5% x 203] =
200,000 X 2& %203 =
3,0009 X 207 x 203] =
7,000¢ X 20 X 203] =
70,0009 X207 X 53] =

2,000,000 x101.=
2,000,0009 X 51.=

20179 (A) | 2016 (B)




At < E—AlE A=d g 20179 (A) | 2016 (B)

(1) AL (25) 620-03 |2,000,000¢ x 253 = 50,000
3) FY =TT E A 91,000
7 oS s AT S Y 2 D 30,000
(1) $94= 210-01 |50,0009 x 5% x 23] = 500
(2) 7+21n) 210-04 |3,0009 x50% x 30| = 4,500
(3) A= 210-07 |500,0009 x 303] = 15,000
(4) T3FAIZZAE (25) 620-03 |1,000,0009 x 103= 10,000
W) ol Al w24 st 61,000
(1) 3l &) 22 AE (5 620-03 |3,000,0009 X 101= 30,000
(2) #3(elE) T2 AE (F5) 620-03 |3,000,0009 X 551= 15,000
(3) EHAESwA (S 620-03 |1,000,0009 x 103.= 10,000
(4) EXNREE A (S 620—03 |1,000,0009 x 61= 6,000
4) FelEvhe S35 A 235,000
7H A2 E7])-e-AY 50,000
(1) DA A AAE] <A 210-13 |50,000,0009 x 17] 3= 50,000
W) FEEvhS a9 210-13 |5,000,0009 x 107) &= 50,000
) Selawa s v 620-03 |2,000,0009 x 101.= 20,000
2 s ZdEA st w S g 100,000
(D) S =S5 (25) 620—03 7,500,0009 X101 = 75,000
(2) E8Q=HHY (F5) 620-03 |7,500,0009 x 231 = 15,000
(3) d=Hulsstu -9 210-13 |5,000,0009 x 27] 7= 10,000
vh) T sl 87| 3 5,000
(1) &9 8= 210-01 [10,000€ X 10% %53 = 500
(2) 7F21n) 210-04 |3,0009 x40 x 53] = 600
(3) =L xt8 210-07 |500,0009 X 53] = 2,500
(4) A8 310-01 |7,0009 x40 x 53] = 1,400
uh) 8t s Al of7he| u] - 10,000
(1) AF2A= 210-01 |[600€lx 100%-x 103]= 600
(2) 7+ 210-04 |3,0009 x 80 x 103] = 2,400
(3) A =H) 210-01 |20,0009 X 10% x 108] = 2,000
(4) A (58) 5,000
oh 71 210-06 |300,0009 x 109 = 3,000
P& - BF-SEBEAYD - REAHYALLY - SNLKHH Y 7/51




o7 A40)
s 2= wa 20174 (A) | 20164(B) (A-B)
W =2 210-06 200,000 x 10 = 2,000
8,868 8,500 368
AFANAA A 8,868 8,500 368
1. ZATERAA D 8,868 8,500 368
7b A AN LGSt 8,868
1) *98F 210-01 |25,0009 X20% x53]= 2,500
2) 91w 210-01 14,0009 X 30} x 44| 7= 168
3) ZdArE (dRb) 300
7 7] 8= 210-06 |100,0009 x 17 x 23] = 200
W =3 210-06 50,0009 X 17 x 22| 7= 100
4) AN Fole e 210-01 |500,0009 x 2€ x 53] = 5,000
5) ¥ 93 230-02 |15,0009 x 307 x 28] = 900
26,647 25,853 794
dZsHAATETAY 26,647 25,853 794
1. Z{HA|A7| EAILNRF 4,415 4,415 0
7t A A S A E A gk 2,735
1) &9 8% 210-01 |25,0009 x8%F= 200
2) AgA 2k 210-01 |8,000¢¥ X 300%-= 2,400
3) dol3 230-02 |15,0009 x9% = 135
. oAb S A FH AT 1,680
1) *98% 210-01 [30,0009 x16%= 480
2) AgA 2k 210-01 [4,0009 X 300%-= 1,200
2. A4 938 3,740 3,740 0
7 A DS E A8 " 3,500
1) AXE LT 210-06 |70,0009 x 25 x 23] = 3,500
U 2 a5y 08 240
1) 923 230-02 15,0009 X167 = 240
3. &YX LAY 8,544 8,530 14
7h APE S G A A= 8,544
JORES A S kR R 6,000
7hH 98+ 210-01 |52,0009 X 10% x 53] = 2,600
v A A = 210-01 16,0009 X 400%= 2,400

WG - B REAN - FANNLLBE - ALFALRREAY

8/51




AR S A5 AEU S 2017d(A) | 20169 (B) | S (A-B)
th) Ak (LR 1,000
(1) 712 210-06 |160,0009 X 1 x 48] = 640
2) =3} 210-06 [90,000¢ x 17 X 4A| 7= 360
2) TeuFHEEIAd 2,544
7hH L4 210—01 37,7009 X 103 x 23] = 754
) A (LR 500
(1) 7)1& 210-06 160,000 x 17 x 23] = 320
(2) =3} 210—06 90,0009 X 17§ x 24| 7k= 180
h) A7 210-07 600,000 x 2t} = 1,200
2h) 39| 3 230-02 15,0009 X 6% = 90
BRI LR R s B o) 9,948 9,168 780
7h 2@ A H A AT 5,500
1) 992 210-01 30,0009 X 25% x 23] = 1,500
2) Al t= 210—07 | 1,000,000¢] x 2tf X 28] = 4,000
. F5 R A H A 2,500
1) &oe= 210-01 |50,0009 X 16%F= 800
2) ZAAHrEE (4R 500
7H 71 & 210—06 160,000 x 2 = 320
) x5 210-06 90,0009 % 27 = 180
3) AU 2= 210-07 600,000 x 2t} = 1,200
o A Az 1,948
1) L9e= 210-01 20,0009 x 25%= 500
2) 211] 210-04 7,0009 X 16 x 43] = 448
3) A= 210—07 1,000,000¢ X 1tl]= 1,000
fFolnS3% 17,857 16,650 1,207
9 17,857 16,650 1,207
AR LR LA S IR ARBNTRFLA = 11,857 10,650 1,207
7h FA R wS Y G A 2 570
1) L9 210-01 15,0009 X 6%= 90
2) HESTY 480
7h 71 & 210—06 40,0009l x 41 x 23] = 320
) z3 210—06 |20,0009 X 47 x 22]7k= 160
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At S 5 —A= e S 2017d(A) | 2016€(B) | TH(A-B)

U A S A 7,777

1) e98= 210-01 |30,0009 X 18% x 23] = 1,080

2) Folg] ¥ 210-01 |20,0009 X 20% x 23] = 800

3) A=A = 210-01 |1,500€ X 2004 x 43] = 1,200

4) A 210-01 |14,0009 x 3v}l x 61 3t= 252

5) At (dHh) 1,020

7h 7] 210-06 |160,000€ x 17 x 38| = 480

W) =3 210-06 90,0009 x 17 x 6A]3k= 540

6) el atE 210-07 600,000 x 4= 2,400

7) 93 230-02 |15,0009 x 5% x 33]= 225

8) AL (Luh) 800

7} 7] E 310-01 [100,0009 x 17 x 48] = 400

W) =3 310-01 |50,000¢ x 17 x 8A|3t= 400

oh AR E A 2,720

1) $98=% 210-01 10,0009 X 10% x 33] = 300

2) A=A A 210-01 10,0009 X 200%"= 2,000

3) AESY 210-06 |40,0009 x 6 = 240

4) g3 230-02 |15,0009 x 6% x 23] = 180

frotuSe 98y s

1) #ZA ey 210-06 |80,000¢ x 27 x 43]= 640

2) 93 230-02 15,0009 X 109 = 150
2. X AHAX Y 6,000 6,000 0

7 HA LA 53 6.000

1 A-FAd 620-03 |6,000,0009= 6,000
EFg83 355,993 346,252 9,741
R RETA 1,180 1,180 0
L ESEsedddsed 1,180 1,180 0

7} Sy ax 210-01 (20,0009 % 18%= 360

L}, a2y 210-06 |80,0009 x 21 x 43| = 640

t}. o3 230-02 |15,0009 x 67 x 23] = 180
ExunSussasAd 336,993 325,440 11,553
1. E54 2S5 Y AE Y 336,993 325,440 11,553
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AF < 5—A5 AEU 20179 (A) | 2016€E(B)
7F A ST u S A A & 155,113
1) Aol An] 41,353
7hH A& 110-02 [2,379,5009 x 129 = 28,554
W Azt 110-02 1103,2609 x15% = 1,549
oh) HAEsp) 110-02 250,0009 x 23] = 500
2h) F2n] 110-02 80,0009 x 129 = 960
ub) A7) EE I 110-02 |140,0009 x 129 = 1,680
Hh) AR} 110-02 |14,335€1 X904 7k= 1,291
AP) W B )] 240-02 |400,0009 x 18] = 400
oh) HAF+ 320-04 |34,536,0009 x1/12= 2,878
2} Z A 320-04 |34,532,5009 X 4.5%= 1,554
21 7R3 320—-04 |34,532,50049 X 3.06%= 1,057
7H =1 A7) Qokr & 320-04 |1,057,0009 X 6.55%= 66
Eh) 1813 320-04 |34,532,500€ X 1.5%= 518
gb) 2k RE 320-04 |34,532,5009 X 1%= 346
2) TEIRLY 37,260
7 2FEFel A E 210-07 |1,200,000¢ x 2t = 2,400
) 3hA w529 210-15 |29,000€ X 140% x 63] = 24,360
oh) WAFA Y S 210-15 |40,0009 x50™ x 28] = 4,000
2h) 7IEA DS 210-15 |38,000€ X501 x 23] = 3,800
) ELnSATFES 210—15 19,0009 x30% x103] = 2,700
3) FEAH A AL 3,500
7h =AY 210-01 |15,0009 x 207 x 28] = 600
) A 7 AR Y] 210-01 |25,0009 x5F x43]= 500
o) kg7 210-15 300,000 x 83 = 2,400
4) 7139 27,700
7H L9 8E 210-01 |50,000€ X108 X 103] = 5,000
W FEew 210-02 50,0009 X 108] = 500
th A7) 210-02 900,000¢ x 129 = 10,800
Zh) WA s 210-02 30,0009 x129= 360
up) A E A JFR 2= h] 210-09 |1,500,000¢ x 28] = 3,000
Hl) o EFg-oin) 210-13 |670,0009 x 129 = 8,040
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AR S A5 AEU S 201749 (A) | 20161 (B)

5 7| AFFE TR 5,000
7H £98F 210-01 |20,000€ X 20% x 108] = 4,000
wh) A=A = 210-01 2,0009 X500%= 1,000
6) 4=3]odn] 220-01 |15,0009 x 3 x 1209 = 5,400
7) #yodn) 220-01 |20,000¢ % 3 x 608] = 3,600
8) At 15,300
7h) St SR (7] 5 310-01 |70,0009 x5 x 143] = 4,900
) st S g3 (23} 310-01 40,0009 x 59 x 20| 7k= 4,000
oh) AR Y2 (7] 5 310-01 |50,000€ x5 x103] = 2,500
E I A A 310—01 30,0009 x 2413} x 303 = 1,800
v}y B Z7FAM] (718 310—01 50,0009 X 1% x 423] = 2,100
9) An] 310-01 |7,0009 % 1009 = 700
10) 7+21n) 310-01 |3,0009 x 100 = 300
11) F3A4 15,000
71 AA T 430-01 |2,000,0009 x 57 = 10,000
) Ex}7) 430-01 |4,000,0009 x 1t= 4,000
oh) o] 430-01 |500,0009 x 2t]= 1,000
U AdASSHET LFAEH S 181,880
1) AFA A4 15,990
7h 1An] 110—03 10,0009 X524 7k x 10¥ x 39 = 15,600
W) 74139 320-05 |15,600,0009 X 1.5%= 234
oh) AR R & 320-05 |15,600,0009 x 1%= 156
2) AR Y= 57,000
71 A=A = 210-01 |10,0009 X 100%-x 28] = 2,000
W) =g 739 210-15 49,0009 x50 x 208] = 49,000
o 2 A a 210-07 |500,000€ x 36| x 48] = 6,000
3) AR GZZ 7 3,600
7h LRI 210-15 |10,000€ x 207 x 183] = 3,600
4) SH-RA Yz 2 7 3,600
7hH T2y 210—15 10,0009 x 20 x 183] = 3,600
5 FARSZE T 18,000
7hH 239 210-15 |9,000€] X 109 x 53] x 405 = 18,000
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AR S AEU S 201749 (A) | 20161 (B) (A-B)
6) 71 A A ] 4,250
7h) SHREF 15,000€1 x 2007 = 3,000
W) 98 15,0009 X 257 x 23] = 750
h) AR 20,0009 x 257 = 500
7) 719 11,000
7H $HEe 60,0009 X 10¥ = 600
W) Azt 150,0009 x 129 = 1,800
th QEYEA Q2 250,0004 X 12 = 3,000
) AR T 50,0009 x 129 = 600
up) A B F RS AN] 500,0009 X 103] = 5,000
8) el A -] 9,000,0009 x 1t = 9,000
9) =} g 1] 500,0009] X 63] = 3,000
10) 9]354] 100,000 x 47 = 400
11) ¥fjoin] 20,0009 X 59 X 643] = 6,400
12) =3]ofn] 20,0009 X 31 X 603 = 3,600
13) A 39,040
7h StAA| QL E 2 3 (7] ) 70,000€] X 309 x 103 = 21,000
W) wARR L EZE 3 (7] E) 70,0009 x 2% x 133] = 1,820
) SR EAATZ 7 (7]8) 70,0009 X 2 X 133] = 1,820
2h) HA W ExE 50,0009 X 47k x 723] = 14,400
14) F3AY] 7,000
7h A A T 400,0009 X 5% = 2,000
) 2AHs NS4 7] 2,500,0009 x 2] = 5,000
EFaFEXA Y 17,820 21,812
1. X BAY 17,820 A1,812
7t 55 a5 A Y AE X AR 17,820
1) Q1An 25,0009 X 59417 X 102 = 14,750
2) =3]ofn] 15,0009 x 1809 = 2,700
3) 18X 14,750,0009 X 1.5%= 222
4) AHA RS 14,750,0009 X 1%= 148
FAREEA s} 26,497 N4t
AR LY 26,497 ABT1
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2,700,000 x 77 x 129 =

AR S AEU S 201749 (A) | 20161 (B) (A-B)
1. A ZH7|BA 4 27,168 A671
7F JAnEPgd
1) 98 40,0009 X 15%F x 43] =
2) A4 9,850 X208 =
3) d93 15,0009 X177 x 23] =
[BPAESES AR B A 560,0009 X 12¢ =
o} F1An| &4 110,0009 X129 =
2h A E ATt A 100,000€] X 53] =
vh Ty T2 A A
D A71a+ 780,0009 X 129 =
2) Aste = 30,0009 x 129 =
3) ARl T 20,0009 x 129 =
4) BRI A Ao 27 27,5009 x 129 =
5 WErAR 25,0009 x 129 =
vp, ARF-3E73 71
1) AH=E (63 280,000¢ x 127) =
2) A= 2z 180,000 x 57 =
1,380 956
ST IA L 1,380 956
1. tn =X FEAI ALY 1,380 956
7h HA R S AR
1) +98% 20,0009 X 10% x 43] =
2) A=A 2 3,0009 X 200%-=
3) Yuxm 14,0009 X 3u)] x 8] 7k =
4) ZAArE (4R
7 71& 100,0009 x 47 =
W) =3 50,0009 x 49 =
227,106 248,222
TAFL B Z AL 216,800 118,200
1. o mARRIZAH] 216,800 118,200
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popnp 23 | =A | A% Abu ] B2-A2 Az o 20179 (A) | 2016€(B) | % (A-B)
A A A B B - B - = ° "
2) =3 EFTd 110-03 | 150,0009 x 74 x 129 = 12,600
L FElela g 110-03 |400,0009 X7 x 12¢ = 33,600
o}, A== 210-15 1300,000€ x 3% = 900
I = 17,900
1) A A ekx Al 210-15 (2,000,000 x 79 = 14,000
2) A JFA kR AMH] 210-15 |1,300,000x 3% = 3,900
vl A2+ 320-05 |231,408,0009 x1/12= 19,284
up, A S 23,916
1) =l 320-05 |273,000,0009 X 4.5%= 12,285
2) AZR3 320-05 |273,000,0009 X 3.06%= 8,354
3) =% 7]) QR 320—05 [8,350,0009 X6.55%= 547
4) A K3 320-05 |273,000,0009 % 1%= 2,730
PSR RES RS 140,328 10,306 130,022
1. 259078491 ¢g 140,328 10,306 130,022
7}, S o] B 10,328
1) $98% 210-01 30,0009 X 20% x 23] = 1,200
2) 91s 210-01 |14,0009 x 31) X 34 3F= 126
3) A=EAZ) 210-01 |2,0009 x81%-= 162
4) WA R 210-01 |300,0009 x 38}H5F= 900
5) ZFArE (4R 210-06 |70,0009 x 9™ x 33| = 1,890
6) A|Adelxts 210-07 |150,0009 x 104 = 1,500
7) A3 n 210-15 17,0009 x 709 = 1,190
8) 7F21n 310-01 |3,00098 X709 x 23] = 420
9) 2] 310-01 |7,0009 X 70 x 63| = 2,940
L AN FERE e 130,000
1) $98x 210-01 |100,0009 X 20% x 28] = 4,000
2) A=A 2 210-01 |10,000€ X 100%-= 1,000
3) A2 210-07 700,000 x 2t)= 1,400
4) - w8-7An) 210-13 |4,250,0009 x 24 = 102,000
5) Q& WA H] 220-04 |7,000,0009 x 29 = 14,000
6) AF-kAan] 220-04 |3,500,0009 x 29 = 7,000
7) 393 230-02 15,0009 x 20 x 23] = 600
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\=]
: ﬂ;j Apeluj el B AE o 20173 (A) | 20169 (B) | 2% (A-B)

A5 BA AL 56,435 52,585 3,850
IR R B N R RS 37,605 32,955 4,650
1. FSA TS 37,605 32,955 4,650

7h. FF A AR A v 37,605

D 7135 110-02 |1,602,0009 x 12€ = 19,224

2) A7 LHEIAE 110-02 200,000 x 12€ = 2,400

3) 7tE5E 110-02 60,0009 x 129 = 720

4) WER ZH] 110-02 60,0009 x 129 = 720

5) 2244 110-02 80,0009 x 129 = 960

6) AATEZFYG 110-02 [11,478¢Y x8AIXF X394 = 3,582

7) A 110-02 61,6309 x 189 = 1,110

8) HAsyM) 110-02 |500,0009 x 23 = 1,000

9) A7)l 110-02 |250,0009 x 28] = 500

10) oJH] 220-01 20,0009 x593]= 1,180

11) 9h3a B n) 240-02 400,0009 x 13 = 400

12) 2% 320-04 |2,697,6109 x 1% = 2,697

13) vl 320-04 |30,338,7909 X 4.5%= 1,361

14) A7 13 320-04 |30,338,7909 X 3.06%= 925

15) xel#7]| e ok 3§ 320-04 |925,0009 X 6.55%= 69

16) 18153 320-04 |30,338,7909 X 1.5%= 454

17) A 5.8 320-04 |30,338,790¢ X 1%= 303
AdsAHA A 1 5A A 18,830 19,630 A800
1. 38 gaey 14,530 14,530 0

AN R R s | 14,530

1) £998% 210-01 |60,0009 X 20% x 23] = 2,400

9) B3 210-01 |250,0009 x 327} = 8,000

3) AFEH] 210-01 [4,0009 x 2507 = 1,000

4) ¥ 93] 230-02 |15,0009 x 427 = 630

5) 21| 310-01 |7,0009 x 2509 = 1,750

6) 7H2n) 310-01 |3,0009 % 2507 = 750
2. ZretTEl A A o) 3] 4,300 5,100 A800

7}, 3817 2 o 3 4,300
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T LE%X]%].;@ ;:ﬂ‘?":]_)
[e) 1=}
?};3 ﬂzd: AP e Az o 20179 (A) | 20164 (B) (A-B)

1) $98= 210-01 |25,0009 X 20% x 23] = 1,000

2) AFEn] 210-01 |10,000€ x 2007 = 2,000

3) WA 210-06 |40,000¢ x 87 x 23] = 640

4) EAFT 210-06 |40,0009 x 27 x 28] = 160

5) AlH] 310-01 |7,0009 x50 = 350

6) 7FAH] 310-01 |3,0009 %507 = 150
SRRz TE 4,800 5,028 228
SYAAL L= 4,800 5,028 228
1. AL AT AAH A A 4,800 5,028 ~228

7}, Qe Y EAH] 210-02 400,0009 x12¢¥= 4,800
A5 w54 3t 595,217 632,257 A37,040
S A S BA A4 258,217 5,257 252,960
1. ASZSHE LY 254,519 1,559 252,960

7h AF AR A 1,559

1) A2A = 210-01 |5,0009 X 130%-= 650

2) AlH] 210-04 |7,0009 x 87 = 609

3) A (L) 210-06 |100,0009 x 27 = 200

1) A= 210-07 50,0009 x 28] = 100

& A At Ak 252,960

1) L9 8= 210-01 [92,5009 X 25% X 43]= 9,250

2) A8 210-07 |2,0009) % 3,159 x 58] = 31,590

3) AFAxta 210-07 |300,0009) X 1t} X 3948] = 118,200

4) FILFEIA S 210-15 |400,0009 x 27§53 ¢ x 103] = 8,000

5) @93 230-02 |15,000€ x 207 x 28] = 600

6) 7+21n] 310—-01 |1,0009) % 5,574 x 58] = 27,870

7) ZAApH] 310-01 |30,0009 x 57 x 3833] = 57,450
2. A =7 Y 2,298 2,298 0

7}, B A= FALA 820

1) $94% 210-01 10,0009 x 10%= 100

2) Zae} 210-06 |80,0009 x5 = 400

3) WA 210-06 |40,0009 x 57 = 200

4) 823 230-02 |15,0009 x 81 = 120

g - BF-SEEEAd - ALSuSAds - GuASEdEAd
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Hopnm A}é e s Ao S-A= ArEue 2017 (A) | 20169 (B) | TH(A-B)

U, St AL =AIA S 1,478
1) $94% 210-01 |7,8009 x 10%= 78
2) An 210-04 |7,0009 x50 x 33] = 1,050
3) ZAAHEE (4R 210-06 |100,000¢ x 11 x 23] = 200
1) Aoz 210-07 |50,0009 x 33| = 150

3. g Htay 1,400 1,400 0
7}, AGE 7| A 1,400
1) $94¥ 210-01 |8,4009 x 10%= 84
2) 2] 210-04 |7,0009 X 77 x 43] = 196
3) AApZot 210-06 40,0009 X 7% x 43] = 1,120

ASSHEER Y 337,000 337,000 0

1. SAXESLY 337,000 337,000 0
7h HAFEED 212,000
1) 258w 620-03 |400,0009 x 193 = 77,200
9) 8w 134,800
7hH 3 620-03 400,0009 x 1687 = 67,200
) A 620-10 |400,0009 x 1697 = 67,600
v AS AL 125,000
1) 7589 75,676
H FHLE 210-01 |238,4009 x 20% x 23] = 9,536
W) A 210-06 |30,0009 X 1754 7k= 5,250
th) 2] 310-01 |7,0009 x 70 x 558] = 26,950
2}) 7Fan) 310-01 |3,0009 x 70% x 248] = 5,040
m}) A=) F e ) 310-01 |14,450,0009 x 23] = 28,900
2) =999 15,350
7h A% 110-03 16,4409 X 6A17Fx 3302 = 12,752
W) Axlr 110-03 [38,170¥ x 15U = 573
) HA= 320-04 |1,234,0009 x 1= 1,234
2h) 17183 320-04 |13,724,0009 X 3.06%= 420
) Q7] Q ok # 320-04 |420,0009 % 6.55%= 27
v 1813 320-04 |13,724,0009 X 1.5%= 206
AR Ak B3 320-04 |13,724,0009 X 1%= 138

BE - FOlRRFERE - BF -5 BEAYD - Ag Y As - A%
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AF < A= dE 20179 (A) | 20169 (B) (A-B)
3) A 33,974
7h 52w 210-02 2,492,0009 X109 = 24,920
W) g7 430—-01 [2,227,0009 x 2t = 4,454
th) AFE 430-01 |1,150,0009 x 4t = 4,600
EWIZX 7,620 14,150 26,530
7S84 3} 3,600 11,100 A7,500
1. 534 3,600 11,100 A7,500
7h A A A3 (F5) 3,600
1) $98% 210-01 |25,0009 X 26% x 23] = 1,300
2) AFEH| 210—-01 25,0009 X604 = 1,500
3) AT 210-06 40,0009 x 207 = 800
FRBF|SFUEAT T LA D 4,020 3,050 970
1. el z2E7M w S X 4733 4,020 3,050 970
7h st 27 A3 A g ek s 4,020
1) $98% 210-01 |20,0009 X 12% x 23] = 480
2) A== 210-07 |500,0004 x 3t = 1,500
3) A&n 210-12 10,0009 x 1207 = 1,200
4) 2] 310-01 |7,0009 X 1207 = 840
29,102 28,102 1,000
o 2] 9 29,102 28,102 1,000
1. QA Tz 5,282 5,282 0
7h A Aok a8 Al 5,282
1) $98x 210-01 |42,8009 x15%= 642
2) A1) 210-04 |7,0009 X214 = 1,498
3) A= 210-07 |500,0009 x5t = 2,500
4) A&n 210-15 |3,0009 x 2149 = 642
2. St Z & ourdul=] ¢ 23,820 0 23,820
b BERIABAE 2,820
1) A& A = 210-01 |3,0009 X 220% = 660
2) WA w2k 210-06 (50,0009 x 6 x 4] = 1,200
3) ¥93 230-02 |15,0009 X327 x 23] = 960
U A TSR F 2 21,000
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AU < E-A5 ArEU Y 2017 (A) | 20161 (B)

1) AAE= (LR 1,000
b 7] 210-06 |160,000¢ x 11§ x 43] = 640
) %3 210-06 90,0009 X 11 X 44| 7k= 360
2) 258 620-03 |500,000¢ X 203 = 10,000
3) F8ti 10,000
7hH 39 620—-03 |500,000€ X 133= 6,500
h AF 620—-10 500,000 X 7= 3,500

414,881 407,911

=24 414,881 407,911

1. 8l (Wee) Z2HELIY 414,881 407,911
7F. o1 AN 280,615
1) A gAk 62,350
7h A% 110-02 12,245,1909 x 2 x 129 = 53,885
W) ALz sY 110-02 13,8609 x 2% x 12041 7k= 3,327
th) Axp 110-02 73,9209 x 2% x 159 = 2,218
2 2] 110-02 [80,0009 x 2 x 129 = 1,920
nh) G717 = 110-02 |250,0009 x 27 x 23] = 1,000
2) AL A 165,821
7hH A5 110-02 |1,977,9109 x 67 x 129 = 142,410
W) A2 110-02 12,2109 X 6% X 1204 7k= 8,792
h Ax59 110-02 65,1009 X6 x 159 = 5,859
b FAn] 110-02 [80,0009 x 6™ x 129 = 5,760
v A 7| A o+ 110-02 |250,0009 X 67 x 23] = 3,000
3) A}3] = A} 52,444
7hH & 110-02 |1,871,0009 x 27 x12¢= 44,904
W) QT2 110-02 11,5509 x 27 x 1204 7k= 2,772
h Ax5y 110-02 61,6009 x 2% x 159 = 1,848
2h) Z211] 110-02 [80,0009 x 27 x 129 = 1,920
vl A7 A o] 110-02 |250,0009 X 27 x 23] = 1,000
U 5AZ 22,169
1) QA A} 320-04 (2,476,190 x 2% = 4,953
2) A A 320-04 |2,181,3909 x 64 = 13,089
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SR R A R R
o )=
?};3 fg A == Az 9 20179 (A) | 2016 (B)

3) A}3] =< A} 320-04 |2,063,5009 x 2% = 4,127

ot A 28,795

1) Zudd= 320-04 |280,615,0009 x4.5%= 12,628

2) A7} R 320-04 |280,615,000¢ X 3.06%= 8,587

3) +9137] Qokn 3 320-04 |8,587,0009 X 6.55%= 563

4) 1LR 320-04 |280,615,0009] x1.5%= 4,210

5) AR B8 320-04 |280,615,0009 X 1%= 2,807

2}, AFEAFg-ol 2o H) 220-01 |20,0009 X 10 x 1203] = 24,000

n}. -3 ) 58,602

1) g 210-01 |40,0009 X 10% x 123]= 4,800

2) T A7 FET 19 210-01 |100,000¢ x 103] = 1,000

3) TRIHY 210-15 |1,900,0009 X 58] x 27] 7= 19,000

4) A AR 210-15 |300,0009 X 53] x 27] ¥= 3,000

5) TR EZ Az 210-15 |200,0009 x 58] x 27] ¢k= 2,000

6) e x| 2 A n 210-15 |1,000,0009) X 58] x 27] 7= 10,000

7) U A 210-15 |250,0009 X 53] X 27] &= 2,500

8) ¢15=H| 210-15 |1,450,0009 x 23] = 2,900

9) xpeEe-9n] (1) 210-15 160,000 x 10€ = 1,600

10) T3 o2 A A 210-02 1983,5009 x 129 = 11,802

ul, ZAk S 700

1) A7) 430-01 |350,0009 x 2tj= 700
=7} 2,823 2,823
2% 7123 2,823 2,823
1. Z7trE YA =B 7t 2,823 2,823

7h =7t A A = e 2,823

1) Al & A g el golrol 110-03 62,0709 x 6% = 373

9) S0 8x 210-01 (27,5009 x10%= 275

3) Kolyladot 210-06 |40,0009 x 127 x 43| = 1,920

4) 9] 3 230-02 15,0009 x17%= 255
&) A 2k A 15,085 15,085
AEAFHY A F A= 15,085 15,085
1. ZFaFANFATLIA Y 13,525 13,525
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cojmg] BF | @A | A% NEE = A Z ) o 20179 (A) | 2016¥(B) | =7 (A-B)
B - IO - I E T s = = 2t
7h ST A sk v 13,525
1) AAA TSR 210-01 |6,215,0009 = 6,215
2) &=t 210-01 60,0009 x 1vj= 60
3) AFEA = 210-01 13,0009 x 250%-= 750
4) Xt 210-06 80,0009 % 2 x 33| = 480
5) AES 210-06 |40,0009) x 7 x 208] = 5,600
6) &2 3 230-02 |15,0009 X 7% x 43 = 420
2. SRAAH]] ST 1,560 1,560 0
7F. AE ] el A 3] 1,560
1) $9e= 210-01 |10,0009 x4%= 40
2) a2t} 210-06 (80,0009 x 2 x 83| = 1,280
3) 93 230-02 |15,0009 x 8% x 23] = 240
ASER A Y 20,239,526 8,700,982 11,538,544
W EE 7829 100,000 0 100,000
W3} 58k 799 100,000 0 100,000
L. EEzzgaedy 100,000 0 100,000
7h A E T AR 100,000
1) ¢x¢ 620-03 |10,000,0009 x 171 9= 10,000
2) 28w 620-03 |11,250,000¢ x 83 = 90,000
FAA 4 18,710,601 7,230,232 11,480,369
7)1 ZF A6 24 18,710,601 7,230,232 11,480,369
1. 522 a3 3,271,480 1,521,312 1,750,168
A ] 147,059
1) 39 620-03 |147,059,0009= 147,059
U, 258w 1,426,597
1) 39 620-03 |1,426,597,0009= 1,426,597
ot F8tau 118,125
1) 29 620-03 80,429,000 = 80,429
2) A 620-10 |37,696,0009 = 37,696
g} 158y 1,539,057
1) 29 620-03 349,866,000 = 349,866
2) AF 620-10 |1,189,191,0009= 1,189,191
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s I = eI RN Smis R (The] : H )
=] M t}o A F -
poryy f2 | TR AT Aripel Rk SESE 20174 () | 20169(B) | S7(A-B)
n}, 8Fe Q1 7 3 A w S A] A (W A a1) 320-01 [40,642,0009 = 40,642
2. EAR G2 g A 12,465,699 3,626,953 8,938,746
7 429 294,705
1) =29 620-03 |294,705,0009 = 294,705
B 4,803,938
1) 29 620-03 |4,803,938,000¢ = 4,803,938
t}, =skw 3,447 560
1) 29 620-03 |2,271,327,0009 = 2,271,327
2) AF 620-10 |1,176,233,0009 = 1,176,233
g} 1538y 3,812,602
1) =9 610-01 |265,345,0009= 265,345
2) 29 620-03 |1,030,457,0009 = 1,030,457
3) AFY 620-10 |2,516,800,000¢ = 2,516,800
ul, &8y 106,894
1) AHY 620-10 |106,894,0009= 106,894
3. ALEFATFTAA L 489,165 571,663 A82,498
7}, 15w 489,165
1) 29 620-03 |212,924,0009= 212,924
2) AHY 620-10 |276,241,000¢ = 276,241
4. SFESTAETAH AL 869,801 0 869,801
7F x4 620-03 |27,453,0009 = 27,453
. x5 620-03 |367,880,0009 = 367,880
ot} S8t 200,140
1) 29 620-03 |116,782,0009= 116,782
2) AFY 620—-10 |83,358,000¢= 83,358
o} 158w 269,909
1) = 610-01 |205430009= 20,543
2) 39 620-03 182,901,000 = 82,901
3) AF 620—10 |166,465,0009= 166,465
ul, E48w 620—10 [4,419,0009 = 4,419
5. A¥AFAEA Y 1,614,456 909,404 705,052
7F 6219 620-03 |40,049,000¢ = 40,049
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AR S A5 A 201749 (A) | 20161 (B) (A-B)
. 258w 620-03 |570,212,0009 = 570,212
o}, Estw 416,477
D FHEH715) 620-03 |8,238,0009 = 8,238
2) B9 (k) 620—03 |235,273,0009 = 235,273
3) A 620—10 |172,966,0009= 172,966
g} 158w 578,050
1) = 610—01 |43,996,000¢= 43,996
2) 2= 620—03 |177,546,0009 = 177,546
3) A 620—10 |356,508,0009= 356,508
uf, EZ=sly 620—10 19,668,000 = 9,668
ASER] S 1,428,925 1,470,750 A41,825
A =4 1,428,925 1,470,750 A41,825
L ASEXSAAGR]Y 1,428,925 1,470,750 A41,825
7t WSEA] A st ] 1,256,900
1) 2538w (201) 620-03 |557,700,000¢ = 557,700
2) =& 651,900
7hH &9 (81) 620-03 |284,700,0009 = 284,700
h A= (63) 620—10 |367,200,0009= 367,200
3) 158 47,300
7h &4 (1) 620-03 |47,300,0009 = 47,300
U 8BRS ) Ak 72,025
1) T5EA$HA 9 18,591
7H &9 8% 210-01 [23,8109 x10% X103 = 2,381
) A=A 2 4,000
(1) A AR AL 2214 210-01 25,0009 X 60 x 23] = 3,000
(2) HIMA 3R 714 210-01 20,0009 X 50%-= 1,000
oh) "YU HE 7} 6,700
(1) FX+TF 6,000
op 71E 210—06 80,0009 x5% x 103] = 4,000
) =3 210-06 |40,0009 x5 X 10A]3t= 2,000
(2) 3YAFAE] 210—-15 |7,0009 X107 x103]= 700
2h) 393 230—02 15,0009 X 10 x 43| = 600
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AU S o= AEU S 201749 (A) | 20169 (B)
u}) olH] 4,910
(1) Ty 220-01 |20,0009 x 1753]= 3,500
Q) = 220-01 |47,0009 X 308] = 1,410
2) 2T 53,434
7h A YA H AT 30,734
(1) $9¢= 210-01 |40,0009) x 15% x 38| = 1,800
(2) A=A =+ 210-01 10,0009 X 100%*= 1,000
3) Y8 210-01 |14,0009 x 3u} X 42A] 7= 1,764
(4) AA2=7n) 210-15 |40,0009 x 307 x 38] = 3,600
(5) AFFI= = 210—07 [700,0009 X 2v)] X 38] = 4,200
(6) AT (YR 10,900
oh 712 310-01 |160,0009 x 11 X 403] = 6,400
W) =3 310-01 90,0009 x 1% X 50A] 7= 4,500
(7) 2] 310-01 |7,0009 %307 x123]= 2,520
(8) 7+An] 310-01 |3,000€ x 30% x 158] = 1,350
(9) <uhn) 310-01 [40,0009 X 30 X 338] = 3,600
W) Zou) A Eeta] oo 240-01 |300,0009] x 3719} x 33 = 2,700
th) A AAA 20,000
(1) Ag] A Bz 7 320-02 |5,000,000 x 47} 7] = 20,000
ot S E A 100,000
D e Edd 14,000
71 ZdAkr (AR 310-01 |70,0009 x 109 X 203] = 14,000
2) MAFHA =AY 20,000
71 7R (LR 310-01 |50,0009 x 209 X 203] = 20,000
3) WFAk AR E 66,000
b e 210-01 |15,0009 X 10% x 23] = 300
W) AEA4 = 210-01 |20,0009 X 40%-= 800
T} gokE 210-01 |10,0009 X 5% = 50
2}) 2 xts 210-07 [700,0009 X 2t)] X 28] = 2,800
u}) 23] 210-15 |300,0009 x 407 = 12,000
v e 220-02 |1,000,0009 x 40 = 40,000
AP &2 3 230-02 |15,0009 X 15% x 28] = 450
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BEoltnSA 9% GCORE-E)
o I Areipel %A Aol 201746(A) | 2016W(B) | S7(A-B)
o}) <uly| 310—01 30,0009l X 40 x 43] = 4,800
Z}) A1) 310-01 |7,0009 x 409 x 153 = 4,200
2b) 7HAH] 310-01 |3,0009 x40% X 53] = 600
[AE5EF 83,832 668,331 £~584,499
2A#E 11,810 11,330 480
S H AT 860 860 0
1. RA SIS 860 860 0
7} R mALA S 860
1) 98 210-01 |20,0009 X 15%F= 300
2) 91w 210-01 14,0009 X 3 X 5| 7= 210
3) ZdArEE (LR 350
7hH 71 & 210-06 |100,0009 x 29 = 200
W) =3} 210—06 [50,0009 X 17 X 3A]7F= 150
TR 2 R B =) 10,950 10,470 480
1. Stz =& 1,030 1,030 0
7F BT A AR 1,030
1) o992 50,0009 X 3% = 150
2) AR 10,0009 x 883] = 880
2. @ FW-e-I34 A3} 9,920 9,440 480
b IR o7 B R B et B R e 9,160
1) o993 20,0009 X 107 x 23] = 400
2) A 80,0009l X 127 x 83] = 7,680
3) ¥9l3] 15,0009 X207 X 23] = 600
4) A ogn] 20,0009 x 31 X 83] = 480
U e A RTE 760
1) ¥9l3g 15,0009 x 127 x 28] = 360
2) Hxloin] 20,0009 X 10 x 23] = 400
F4 3 35,952 581,803 A545,851
& 9,262 7,707 1,555
1. TSP 2% 9,262 7,707 1,555
7}, St A A AR 3,262
D $dgE 20,0009 X 12 X 43] = 960
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Aty S-A= ArEue 20179 (A) | 2016€E(B) (A-B)
2) A=A 210-01 |3,0009) X 1255 x 43] = 1,500
3) dix 210-01 |14,000¢ x 31} X 6A]7F= 252
4) A (LR 550
7 71& 210-06 |70,0009 x 19 x 53] = 350
W) %23 210—-06 |40,0004 X 17§ X 5] 3k= 200
L T = B R e R s 5,700
D sodex 210-01 |20,0009 X 5% = 100
2) 93 230—02 15,0009 x10% x 43] = 600
3) AA+E@1m) 310-01 |50,0009 x502] x 28 = 5,000
o}, 28 @ u A EAAL 210-01 |50,0009 % 63 = 300
AFA$Y 26,690 26,690 0
1. 7 F A8k A ] 26,690 26,690 0
7}, FA 2}Eke-odv) 620—-03 |2,669,0004 x 10t]= 26,690
36,070 75,198 239,128
2] 36,070 75,198 239,128
L AZASHE A 2,800 0 2,800
7h A=A S s A 2,800
1) Sagx 210-01 |40,00049 X 10% x 28] = 800
2) N 310—-03 |200,0009 X 109 = 2,000
2. AZ A A S 3 11,540 14,268 22,728
7h A= Ad A S 3] 11,540
1) £398=% 210-01 [40,0009 X10%F x 23] = 800
9) WEH] 310-01 10,0009 X 60% = 600
3) Z:uhn] 310-01 |40,0004€ X607 = 2,400
4) 7¥Am) 310-01 |3,0009¥ x 607 x 33]= 540
5) 2lH] 310-01 |7,000€ x60% X 108 = 4,200
6) A3 310-01 |200,0009 x 153 = 3,000
3. 7|} S0 3 21,730 60,930 239,200
7h. Sl o 3 5,160
1) 733 3,200
7hH 94 210-01 52,0009 X 25% x 23] = 2,600
) Agset 210-06 40,0009 % 15 = 600
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BAY AR R w8 9% (9] A)
2 [e} =]
Bopny ?}Zj ?}g flgd: Aped el A= Az 20179 (A) | 20161(B) | Z#(A-B)
2) B A5 3] 1,960
7H L9 8= 210-01 40,0009 x 12% x 23] = 960
W) Ak 210-06 40,0009 x 257 = 1,000
L‘r J—L,IT 1) o) 3] 11,390
/g2l 5,795
7}) o 210-15 |15,0009 X 10%F x 28] = 300
) ek 310—-01 20,0009 x 357 x 23] = 1,400
th) 721 310-01 |3,00091 X 357 x 48] = 420
b 2] 310-01 |7,0009 %357 X158 = 3,675
2) AL G a3 5,595
7hH $9e= 210-01 |10,0009¥ x 5% x 23] = 100
) <uh) 310-01 |20,0009 x 357 x 23] = 1,400
th) 7r21H] 310-01 |3,0009 X357 x 48] = 420
2} 24) 310-01 |7,0009 % 357 x 153]= 3,675
AR R 5,180
1) S99= 210-01 |41,000€ X 25% x 48] = 4,100
2) Ayt 210-06 40,0009 x 12 = 480
3) 7+2H) 310-01 |3,0009 x60% = 180
4) A1) 310-01 |7,0004 x 607 = 420
st A) A | A g 49,683,136 59,681,996 29,998,860
S gu| AL 23,009,977 32,263,709 29,253,732
sy eguxd 23,009,977 32,263,709 29,253,732
1. st 7| 29| 22,686,773 32,019,019 £A9,332,246
7b 424 620-02 |2,184,522,0009 = 2,184,522
U, 258w 620-02 |15,483,803,000¢1= 15,483,803
ot} Fdw 620-02 |5,018,448,0009 = 5,018,448
2. &t 7|l Y 323,204 244,690 78,514
7}, EA] ] 21,000
1) 258w (21) 620-03 |21,000,00091= 21,000
LR ] i) 6,000
1) olg) &= 620-04 |6,000,000¢= 6.000
t}. L;alﬂ 2} 2 7-9] 154,666
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RS A STA R Rk (T : H9)
o I RERE %A% RENE 20174(A) | 2016W(B) | S3(A-B)
1) 2Z8kw (911) 620—04 |108,501,0009¢ = 108,501
2) 1S58y (1a) 620—04 |46,165,0009= 46,165
2k WA E T 10,000
1) $¥3= 620—04 |10,000,0009= 10,000
ah, 3 g &5 28,538
1) o8l s 620—04 |28,538,0009= 28,538
up, W g5 10,000
D olg A= 620-04 |10,000,0009 = 10,000
Al H A A Y 93,000
1) 258w (430) 620—04 |63,000,0009= 63,000
2) =8 (21) 620—04 |30,000,0009= 30,000
AFHA A 2] 9 26,673,159 27,418,287 AT45,128
AAN AR ATA L 22,974,376 22,402,156 572,220
1. AANAF AT R 22,974,376 22,402,156 572,220
7}, el An A <Y 620-08 |22,974,376,0009 = 22,974,376
+dnAZ2EA 4 3,698,783 5,016,131 A1,317,348
1. L9 ARAETRZ 3,698,783 5,016,131 21,317,348
7}, & 7] 99| 620—09 |3,698,783,0004 = 3,698,783
AAGAANAAA 17,589,354 16,373,519 1,215,835
& HEA| A 734,257 968,737 £234,480
A= 734,257 968,737 A234,480
1. A3A RSB 734,257 0 734,257
7h ohE A A A 734,257
1) P % 420-03 |193,080,0009 x 15 = 193,080
2) std= 420-03 [155,140,0009 x 1% = 155,140
3) A=z 386,037
71 A n] 420-02 |368,474,0009 X 4.7664%= 17,563
) Al 368,474
(1) TEA g ASA 420-03 |84,171,3009 x 34 = 252,514
(2) g Z== 420-03 |115,960,0009 x 15 = 115,960
A o o b R R 16,855,097 15,404,782 1,450,315
SO AE 7SR NA 16,855,097 15,404,782 1,450,315
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AF < A= AEU 20179 (A) | 20169 (B) (A-B)
1. ZA A 6,238,580 5,107,611 1,130,969
7}, ap=t 1,683,797
1) AA R 420-02 |1,638,110,0009 X 2.331%= 38,184
2) A Al 1,638,110
7h S % (829 %) 420-03 |14,920,0009 x 32 = 44,760
W} 3 (B9%) 420-03 |14,920,0009 x 154 = 223,800
th HA 2 (EaE) 420-03 |14,920,000¢ x 34 = 44,760
2h) olgl M = (B3E) 420-03 |14,920,0009 x 241 = 29,840
o} olg B & % (ZRE) 420-03 |12,080,0009 x 2521 = 302,000
Hh) m) 2% (6 9%) 420-03 |16,490,0009 x 34 = 49,470
AP o] # A =% () 420-03 |11,180,0009 x 72 = 78,260
o) AE % (EP%E) 420-03 |14,920,0009 x 94 = 134,280
21 o]g] B % (7% 420-03 |14,920,0009 x 221 = 29,840
b F5x (Z3%) 420-03 |14,920,0009 x 44 = 59,680
7h olgl1d X (&%) 420-03 |14,920,0009 x1.54 = 22,380
B UEx (E9%) 420-03 |14,920,0009 x 52 = 74,600
) o]gE % (B3%E) 420-03 |14,920,0009 x 134 = 193,960
ah) o8] e (HD) 420-03 |157,920,0009 x 1 %= 157,920
) otz (ThEA W) 420-03 |14,920,0009 x 44 = 59,680
) oAk ofx (%) 420-03 |12,080,000¢ x 421 = 48,320
o) olglo 1 (E3E) 420-03 |12,080,0009 x 74 = 84,560
3) A] Ay 420-05 |1,638,110,0009 X 0.461%= 7,503
U 25 2,758,665
1) A 420-02 |2,689,675,0009 X 2.205%= 59,307
2) AlAdn] 2,689,675
7 s % 420-03 |19,850,0009 x 1221 = 238,200
W) ez 420-03 |19,850,0009 x 2.5 = 49,625
o Sz 420-03 |19,850,0009 x 421 = 79,400
Z}) olg]=x% 420-03 |19,850,0009 x 44 = 79,400
nh) o] AlE & 420-03 |19,850,0009 x 62 = 119,100
v olglx 420-03 |19,850,0009 x 214 = 416,850
AP o]#]EAF X (L) 420-03 |19,850,0009 x 242 = 476,400
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@A PRSL == AESE 2017 (A) | 2016\ (B)
A | A
op) olgl Al x (His) 420-03 19,850,0009 x 274 = 535,950
2} SEZ= 420—03 19,850,000 x 144 = 277,900
2} e 420-03 19,850,0009 x 34 = 59,550
7H o8l &1L 420—-03 19,850,0009) x 104 = 198,500
Ep olg]ol 1 420-03 19,850,000 x84 = 158,800
3) A En) 420—-05 2,689,675,0009 X0.360%= 9,683
o} & 270,010
1) Al 268,080
7h Znlx 420-03 3,220,0009 X104 = 32,200
) 9akx 420—03 2,040,0009 X514 = 104,040
o ez 420—-03 3,220,0009 x 54 = 16,100
2} m|Ex% 420—03 2,040,0009 X 104 = 20,400
nh) o]g] Al E % 420-03 2,040,0009 x 54 = 10,200
Hh) AA % 420-03 |1,430,0009 X104 = 14,300
AP olgl L 420—-03 3,220,000 x 224 = 70,840
2) Al F-tH) 420—05 268,080,0009 X0.720%= 1,930
g}, v 543,200
1) AlAdn] 539,354
7h oAtz (EH5) 420-03 |8,002,0009 x 34 = 24,006
) o xkx (A3 420—-03 8,002,000€ X 64 = 48,012
oh) R (EAE) 420—-03 8,002,000 x 94 = 72,018
2h) 8% (E3Yy) 420—-03 8,002,0009 x 34 = 24,006
u}) o]g]ZAbE (E3%) 420—03 8,002,000 x 144 = 112,028
vh) Zulx (A A g 420-03 8,002,000¢ x 24 = 16,004
AP olgldx (E9%) 420—-03 8,002,0009 x 14 = 8,002
op) ol X (A% 420—-03 8,002,000€ x 94 = 72,018
2h) oatoy ek x ) 420-03 [43,230,0009 x 1 %= 43,230
) AdEERE) 420—-03 8,002,0009 x 44 = 32,008
7hH olg 1 (FHF) 420-03 [8,002,0009 x 54 = 40,010
Ep) dEZe 3 (Z35) 420—-03 8,002,0009 x 34 = 24,006
v} olg] ¥ (V1 A7) 420-03 |8,002,0009 x 34 = 24,006
2) A En) 420—05 539,354,000 X0.713%= 3,846
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o )=
o I N 5% e 20179 (A) | 20169 (B) | 2% (A-B)
af, o) H B 827,058
1) AAMm 420-02 |622,340,0009 X5.537%= 34,459
2) A|A4H] 787,340
7}) olg| R = 420-03 8,410,0009 x 304 = 252,300
W) 84= 420-03 |8,410,0009 x 44 = 33,640
) vz 420—-03 18,410,000 x 164 = 134,560
h) olglgFx 420-03 [8,410,0009 x 144 = 117,740
up) S x 420-03 |5,500,0009 x 124 = 66,000
uh) oAb s % 420-03 |5,500,0009 x 1841 = 99,000
A} olg]ed i 420-03 |8,410,0009 x 104 = 84,100
3) Al F-ofiv] 420-05 |787,340,0009 X 0.668%= 5,259
v, = 155,850
1) A]4dH] 154,610
7h 4 (U 9H) 420-03 |2,150,0009 x 172 = 36,550
W) 9 eE) 420-03 [2,150,0009 X 74 = 15,050
oh) shelx (94 420-03 |480,0009 x 184 = 8,640
) IEx(9H) 420—03 480,0009 x 44 = 1,920
vh) &35 (e ) 420-03 |2,150,0009 x 1441 = 30,100
vh) A= (e 420-03 [2,150,0009 x 34 = 6,450
AP = (W9l 420-03 [2,150,0009 x 124 = 25,800
o}) o]g]ed a1 (1) 9] ) 420-03 2,150,000 x 142 = 30,100
2) Al HE-thn] 420—05 [154,610,0009 X 0.802%= 1,240
2. g AIAANA 110,568 111,222 £654

7b ERAAA 55,486
1) A]AdH] 55,000
7h) oAbz (A BE) 420-03 9,740,0009 x 14 = 9,740
W) oAbz (%) 420-03 |9,740,0009 x 14 = 9,740
h olgals=x 420-03 |16,040,0009 x 14 = 16,040
g} olgl&shx 420-03 |9,740,0009 x 12 = 9,740
) = 420-03 9,740,000 x 14 = 9,740
2) At 420-05 |55,000,000¢ X 0.883%= 486
B Rl A 55,082
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A S A= AEU A 2017d(A) | 2016€(B) | % (A-B)

1) A1An| 54,600

7} olglel 420-03 |156,0009 x 350m= 54,600

2) A E ] 420-05 |54,600,0009 X 0.883%= 482
3.9 - G A AA 1,121,812 51,670 1,070,142
4 I L 1,121,812

1) AAm 420-02 |1,064,550,0009 x 4.885%= 52,003

2) A|AdH) 1,064,550

7h drd % 420-03 [6,910,0009 x5 = 34,550

}) olatolokx 420-03 |11,430,0009 x 112 = 125,730

th eJakx 420-03 |11,430,0009 X524 = 57,150

) oJakz 420-03 [6,910,0009 x5 = 34,550

n}) o] g % 420-03 |11,430,0009 X524 = 57,150

vl 2¥x 420-03 [6,910,0009 x84 = 55,280

Ap) o) AR 420-03 |11,430,0009 x 304 = 342,900

oh) ol &% 420-03 |11,430,0009 x 244 = 274,320

) FFE 420-03 6,910,000 x 421 = 27,640

2}) o]@] o it 420-03 [6,910,0009 x84 = 55,280

3) A A E ] 420-05 |1,064,550,000¢ X 0.494%= 5,259
4, EAAAAA 80,000 80,000 0
A = AR RIES) 80,000

1) A]An] 80,000

AT AR 420-03 80,000,000 x 1iL= 80,000
5. A A ekA A A 3,249,863 5,781,555 22,531,692
A E KRR 1,297,930

1) AAm 420-02 |1,232,415,0009 x 4.819%= 59,390

2) A|AdH) 1,232,415

7h olglAlE:x 420-03 [81,0009 x4,741m'= 384,021

) olglsdx 420-03 81,0009 x3,028m'= 245,268

th) o]gTE % 420-03 81,0009 x 1,426m'= 115,506

2h) SFegx 420-03 |81,0009 X 6,020m'= 487,620

3) A| A E ] 420-05 |1,232,415,0009 X 0.497%= 6,125
1}, 9 63,228
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AU < E-A5 ArEU Y 2017 (A) | 20161 (B)
1) Al 62,580
7h Sz 420-03 |447,0009 X 20m'= 8.940
) g2tz 420-03 [447,0009 % 120m'= 53.640
2) Ao 420-05 |62,580,000¢] X 1.035%= 648
o ApE s A Al A 6,280
1) Al 6,280
7h ol 420-03 |314,0009 x 204 = 6,280
2k g3k E 109,501
1) AldH] 108,540
7} ol FAtx 420-03 |4,020,00091 X 117 4= 14,220
) elakx 420-03 |4,020,0009 X 27} 2= 8.040
oh olg] s dx 420-03 4,020,000 X 17 2= 14,020
2h) olgls% 420-03 14,020,000 X 1370 4= 52.260
2) A 5-ofiv] 420-05 |108,540,0009 X 0.885%= 961
ub, 478 (A1) A 1,566,324
1) A AM] 420-02 |1,488,660,0009 X 4.719%= 70,250
2) Aldn 1,488,660
7h olglRdx 420-03 |9,120,0009 x 174 = 155,040
W) Ssdx 420-03 |11,080,0009 x 7.5 = 83.100
o MEx 420-03 9,120,000 x84 = 72,960
2h) olglal sz 420-03 |11,080,0009 x 74 = 77,560
nh) olgj R dx 420-03 |11,080,0009 x 94 = 99.720
uh) 5% 420-03 19,120,0009 x 421 = 36,480
AR olglZEx 420-03 |11,080,0009 x 124 = 132,960
op) 82tz 420-03 |11,080,0009 x 42 = 44,320
b A Ex 420-03 |9,120,0009 x 124 = 109,440
2h) 5% 420-03 |11,080,0009 x 34 = 33,240
7hH bz 420-03 |11,080,0009 x52 = 55,400
EP) olggdx 420-03 |11,080,0009 x 741 = 77.560
1) o8l 5% 420-03 |9,120,0009 x 54 = 45,600
sh) dd= 420-03 |11,080,0009 x 321 = 33.240
A) FXET 420-03 |11,080,0009 x 82 = 88,640
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o \=]

?}g fg PRSL == RENE 2017 (A) | 2016\ (B)
W) 275 420-03 |9,120,0009 x 52 = 45,600
o) olgle 1 420-03 |11,080,0009 x 74 = 77,560
2) g 420-03 |9,120,0009 x 122 = 109,440
o)) ARz}aly 420-03 |11,080,0009 x 104 = 110,800

3) A A E ] 420-05 |1,488,660,0009 X 0.498%= 7,414
uh o] EXA 2,509
1) AlAdH] 2,509

7h w5 & CGFan) 420-03 |164,0009 x5n'= 820

W) =% () 420-03 |164,0009 x 3.1m'= 508

th olg] & & (Fan) 420-03 |164,00091 X7.2m'= 1,181
A, A E A7 133,385
1) 9% (29%) 420-01 |4,0009 x 681 m'= 2,724
2) ol 1d % (25AH 420-01 |4,00091 X 2,957 m'= 11,828
3) olg]TE = (B 420-01 |4,0009 X 1,594m'= 6,377
4) Az (EA%) 420-01 |4,0009 X 2,008m'= 8,031
5) olgHYx(25Ah 420-01 |4,0009 % 3,893m'= 15,574
6) olglFstx (254D 420-01 |4,0009 X 1,755m'= 7,020
7) olgl & (Ra%) 420-01 |4,0009 X 2,405m'= 9,620
8) &0tz (Ra%) 420-01 |4,0009 x2,024m'= 8,096
9) M7= (A=) 420-01 [4,0009 x2,111m'= 8,443
10) o8] & % (354D 420-01 |4,00091 % 1,830m'= 7,320
11) olg]w3 = (2%AD) 420-01 |4,0009%x1,172m'= 4,687
12) o]gA&-% (254D 420-01 |4,00091 x1,031m'= 4,124
13) 9= (E3%) 420-01 |4,0009 X 1,639m'= 6,556
14) A3 (9% 420-01 |4,0009 X 1,475m'= 5,900
15) $¥=(EP%E) 420-01 |4,0009 % 1,463m'= 5,852
16) b (2 yE) 420-01 |4,0009 x1,771m'= 7,084
17) =% (4EAD) 420-01 |4,00091%1,057m'= 4,228
18) A= (2% 420-01 |4,0009 x1,019m'= 4,076
19) Sz (R 420-01 |4,0009 X 627 m'= 2,508
20) QA2 (2] g 420-01 |4,0009 x419m'= 1,674
21) o]l FH = (3EA}D) 420-01 |4,0009 x416m'= 1,663
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AR S A5 AEU S 201749 (A) | 20161 (B) (A-B)
of, =77 R 70,706
1) A]AdH] 70,000
7h elarLokx 420-03 |70,000,0009 X 17] &= 70,000
2) A H-tn] 420-05 |70,000,000¢ X 1.008%= 706
6. ] HFAMA 1,775,144 1,664,624 110,520
7} S 169,431
1) A A 420-02 137,600,000 X 7.781%= 10,707
2) Al 157,600
7H 85 x% 420-03 |455,0009 X 60m= 27,300
W) WA x 420-03 [455,0009 X 180m= 81,900
o} olgloi L 420-03 [284,0009 X 100m= 28,400
2h) a5 (A A 2) 420—-03 |445,0009 X 45m= 20,000
3) A -t ] 420-05 |137,600,000€ X0.817%= 1,124
| 419,760
1) A AN 420-02 |393,520,000€) X 5.948%= 23,407
2) Al 393,520
7 olgl A% 420-03 |50,000¢ X 350m'= 17,500
) shekx 420-03 |238,0009 X 540m'= 128,520
o} X% 420-03 [238,0009 X 800m'= 190,400
) S99 x 420-03 [50,0009 X 190m'= 9,500
ul) oJitoffx 420-03 |238,0009 X 200m'= 47,600
3) Al EtfiH] 420-05 1393,520,0009 X0.720%= 2,833
o} w2 435,566
1) A A 420-02 408,449,000 X5.919%= 24,176
2) Al 408,449
7h oAtz 420-03 233,000€ X 60m= 13,980
W) £4d9x 420-03 [233,0009 X 270m= 62,910
o) XX 420-03 233,000€ X 300m= 69,900
) Tex 420-03 [233,0009 X 233m= 54,289
b % 420-03 [233,0009 X 120m= 27,960
v A&z 420-03 [233,0009 X 170m= 39,610
AP ol Az 420-03 |233,0009 X 100m= 23,300
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o \=]

?};3 fg A A= Az 9 20179 (A) | 20169 (B)
op) Wz 420-03 |233,0009 X 100m= 23,300
A4 FEx 420-03 233,0009 X 50m= 11,650
2h) olgF-Ex 420-03 [233,000€ X 200m= 46,600
7} olgloi 1L 420-03 [233,000¢ X 150m= 34,950
3) A Xt n] 420-05 |408,449,0004 x0.720%= 2,941

2t o FTEINA 33,857
1) AlAdn] 33,495
7P olgle g% 420-03 |87,0009 X 135m= 11,745
) olgal s = 420-03 |87,000¢ x 250m= 21,750
2) AR H) 420—-05 |33,495,0009 X 1.08%= 362
ok, #3597 ) 29,010
1) AAdH] 28,700
7h olEldEx 420-03 |5,0009 X5,740m'= 28,700
2) A FH) 420-05 |28,700,0009 X 1.08%= 310
S AN ! 28,171
1) A4 27,870
7hH mE% 420-03 27,870,0009 x 12 = 27,870
2) A ¥-tjn] 420—-05 |27,870,0009 X 1.08%= 301
AR RS 647,624
1) A Am] 420—02 483,000,000 X5.773%= 27,884
2) Al’dH] 615,020
7h dAkx 420-03 |1,610,0009 X 40m= 64,400
) A7) % 420-03 |1,610,0009 X 60m= 96,600
o Az 420-03 |1,610,0009 X 35m= 56,350
2} olglal s = 420-03 3,220,0009 X 60m= 193,200
ul) olg|mlstx 420-03 |1,610,000€ X 20m= 32,200
uh) o]zl % 420-03 1,610,0009 X 27m= 43,470
A k= 420-03 |1,610,000¢ X 80m= 128,800
3) AR H] 420-05 615,020,0009 X0.767 %= 4,720
of, A&F A 11,725
1) AlAdH] 11,600
7h $Ex 420-03 |80,000¢ X 65m= 5,200
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AR S AFEU S 201749 (A) | 20161 (B) (A-B)

) olglgdAax 80,000¢ X 80m= 6,400
2) Al F-tH] 11,600,0009 X 1.08%= 125

7. A7\A BN 479,614 692,362 £212,748
7} 2 A1 (LED) 406,094
1) A A 380,620,0009 X5.973%= 22,734
2) Al 380,620
h GTEx 2,440,0009 X 7.5 = 18,300
) ol 3 x 2,440,0009] x 144 = 34,160
o) HEx 2,440,000¢ x 84 = 19,520
Zh) oy Al L% 2,440,000 x 74 = 17,080
u}) oJakgsx 2,440,00091 x 124 = 29,280
vh) ojg|HUx 2,440,0009 X 941 = 21,960
AR olgj e x 2,440,0009 x 124 = 29,280
oh) Fex 2,440,000¢] x 541 = 12,200
2 A= 2,440,000 x 52 = 12,200
21 olEdx 2,440,000 x 74 = 17,080
7h o8 T=E X (HFd) 50,000,000¢ X 1% = 50,000
Ep A= 2,440,0009 x 34 = 7,320
3) Sx = 2,440,0009 x 74 = 17,080
3h) olgl 5= 2,440,0009 x 54 = 12,200
A) A= 2,440,0009 x 54 = 12,200
Y) olgjol 2,440,0009 x 74 = 17,080
o) g4y 2,440,000 x 124 = 29,280
) AEFHsT 2,440,00090 X 104 = 24,400
3) Al HE- ] 380,620,0009 X 0.720%= 2,740
. 755 8,858
1) A AM] 8,050,000¢ X 8.960%= 721
2) Aldn] 8,050
7 ek 322,0009 X 25kw= 8,050
3) Al o] 8,050,000¢) X 1.08%= 87
A w A 64,662
) A AH] 58,830,000¢ X 8.865%= 5,215
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AR S A5 AEU S 201749 (A) | 20161 (B) (A-B)

2) Al 58,830

71 eAhd % 420-03 |1,110,0009 x 52 = 5,550

) o]l sAatx 420-03 |1,110,0009 x 4841 = 53,280

3) Al o] 420-05 |58,830,000¢] X 1.048%= 617
8. Atz A|A 5,559 58,307 52,748
7b e stz 5,559

1) A1) 5,500

7h Atz 420-03 |5,500,0009 X 14 = 5,500

2) A HF-dn] 420-05 |5,500,0009 X 1.08%= 59
9. AN 3,262,195 1,243,435 2,018,760
i 1 R 3,262,195

1) AAM] 420—02 3,116,260,0009 X 4.355%= 135,713

2) Al 3,116,260

7h olalg-x %l 420-03 |77,120,0009 x 34 = 231,360

h ol WiA = 420-03 [83,310,0009 x5 = 416,550

) HAAx 420-03 |83,310,0009 x 24 = 166,620

oh olg| Hdx 420-03 |83,310,0009 x 32 = 249,930

up) olg Al x 420-03 |83,310,0009 x 22 = 166,620

vh) o] gnetx 420-03 |83,310,0009] x 821 = 666,480

AP ol Ex 420-03 |83,310,0009 x 421 = 333,240

op) A= 420-03 |83,310,000¢ x 34 = 249,930

2} o|g ER = 420-03 |77,120,0009 x 34 = 231,360

2}) og] Lz 420-03 |83,310,0009 x 32 = 249,930

7h) olgle] 1L 420-03 |77,120,0009 x 24 = 154,240

3) Al -] 420-05 |3,116,260,0009 X 0.328%= 10,222
10. A12FANA AHR) 295,902 104,522 191,380
7F A2 () A 224,160

1) g5 620-11 [9,120,0009 X104 = 91,200

2) 93golx 620-11 |11,080,0009 x 124 = 132,960
s 12,060

D 55 620—11 |4,020,0009 x 34 = 12,060
oh obd (Aeh) 1k 56,500

A - n&EBRNAAE - A E &g )
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AR S A5 A 201749 (A) | 20161 (B) 7 (A-B)
1) g5 620—-11 [113,0009 X 250m= 28,250
2) A= 62011 |113,0009 X 250m= 28,250
o}, LHlo|EEA 3,182
1) AA= 62011 |164,0009x19.4m'= 3,182
11. F-EAMA (AHE) 23,300 106,280 282,980
7F W E 23,300
1) olgl& 620—11 |233,0009 X 100m= 23,300
12. AZIAE AL AHD 53,680 0 53,680
7} 2 A4 (LED) 53,680
1) YA = 620-11 |2,440,0009 X102 = 24,400
2) YFol= 620—11 |2,440,0009 x 1224 = 29,280
13. A3xA1AE (AH) 15,000 0 15,000
7 . A3 xd 15,000
1) d3odF 620—11 |15,000,000¢ x 14 = 15,000
14. 33N AH) 143,880 100,464 43,416
7} s A 143,880
1) o8 (EHE) 620-11 |71,940,000¢ x 24 = 143,880
3,365 2,700 665
3,365 2,700 665
FANSE 313 3,365 2,700 665
FRTSA AL IA L 3,365 2,700 665
1. BRI A L 500 500 0
7}, FATHSG T A & 2] 3 210-01 |500,0009 = 500
2. 752N 439 965 900 65
7b o9 210-01 20,0009 X 5% = 100
[ R 210-06 80,0009 x84 = 640
t}. & 2] 3 230-02 |15,0009 x15% = 225
3. 3N wE A= L% 1,900 1,300 600
7F. &9 8= 210-01 |20,0009 x10%= 200
U, HoHF 210-02 5009 x1,400% x 23] = 1,400
TF W #5757 9 7 310-01 20,0009 X 3% x 53] = 300
ZSYR 5,327,979 3,367,530 1,960,449

El
fo
I
El
fo
e
=
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i=3 ARSI A5 ArEue 2017 (A) | 20169 (B) | TH(A-B)
3,462,689 2,871,830 590,859
14,040 11,595 2,445
718 ¢ 9,700 9,615 85
1. 72499485952 9,700 9,615 85
7F. Fo AT A E L 210-01 |14,0009 X 360%= 5,040
PSR 4,660
1) $98% 210-01 |55,0009 X 12%= 660
2) AaA =k 210-01 |5,0009 X 500%= 2,500
3) A (5H) 500
7H 71& 210-06 |300,0009 x 19 = 300
) %3 210-06 |200,0009 x 14 = 200
4) A= 210-07 |1,000,0009 x 18] = 1,000
PR R 4,340 1,980 2,360
1. ZS5PHAIG A A7 2,360 0 2,360
b msA AN BEH 9 A3 2,360
D sodex 210-01 (23,5009 X 10% x 28] = 470
2) A5t 210-06 |80,00091 x 9% x 23] = 1,440
3) go)3 230-02 15,0009 x 157 x 23] = 450
2. A AP S HE XY 1,980 1,980 0
AT o B B e el 1,980
1) d9l3g 230—-02 15,0009 X 6674 x 23] = 1,980
AL 7,400 5,150 2,250
7,400 5,150 2,250
1. AAZA} 1,200 1,350 A150
7}, A =) 250-04 |5,0009 x 37 x803]= 1,200
2. Bujulx gl & o] A 733} 6,200 3,800 2,400
7h BEAEHH LK 6,200
1) $98% 210-01 30,0009 X 15% x 43| = 1,800
2) AR wS 210—-01 60,0009 x40 = 2,400
3) AArFE (LR 2,000
7 71& 310-01 [160,0009 X 2% X 43] = 1,280
W) =3 310-01 |90,000€ x 27 X 4|3} = 720
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Bopnm AF | @ AR Apeluj el 2= NEN 20179 (A) | 2016d(B) | =% (A-B)
A A A = - = = °w
THFAFA 9,500 9,000 500
PANAEFTA L 9,500 9,000 500
1. 25 x At 9,500 9,000 500
7k Ao g s ote] 9,500
1) &98% 210—01 [30,0009 X 20% x 43] = 2,400
2) ¥2l3 230-02 15,0009 x 20 x 48] = 1,200
3) Eole] x| gn 240-01 |675,0009 x 8% = 5,400
4) ZFArE (LR 500
7h 7] & 310-01 |160,0009 x 21 = 320
) 2% 310-01 90,0009 x 2% = 180
A R R R R 48,151 7,901 40,250
TEFYYHA ALY 48,151 7,901 40,250
1. Al2"E#A U9 47,491 7,241 40,250
7F AR 45,854
1) &98% 210-01 |20,000€ x 25% x 28] = 1,000
2) AF-EAZEY ] 210-01 |1,302,0009 x 2% = 2,604
3) PCH 210-09 |100,0009 x 203] = 2,000
4) A5 EZA) 430-01 |900,000¢ x 35t) = 31,500
5) R UE 430-01 |250,0009 x 35t) = 8,750
b A4 B A] B 1,637
1) UES I3 210-09 |13,004,000¢9 X 8%= 1,041
2) UPSHH] 210-09 |7,448,0009 X 8%= 596
2. ZF o)A /A &z 660 660 0
7}, &5 o] x| H ol gl M u] A~ 210-01 |55,0009 x12¢= 660
ETEYPAE LI FE R 2,140 2,360 A220
DEPY IS EHE 2,140 2,360 £~220
1. 71582 23 F 400 400 0
7h 71539 210-01 20,0009 X 10% x 23] = 400
2. 7|2 ERERATE 375 375 0
7h 715=H 74 9] 5 375
D A+ 240
71 78 210-06 |80,00091 x 2% = 160
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?}2 ﬂ:‘;r Aol el B A& o 20179 (A) | 2016W(B) | Z7(A-B)
W 23 210-06 |40,0009 x 27 = 80
2) ¥ 3] 230-02 15,0009 X 37 x 38] = 135
3. ARZANSY 1,365 1,585 A220
7F A ug i 2] 3 885
1) At 210-06 |80,000¢ x 27 x 33| = 480
2) 8293 230-02 [15,0009 x 97 x 33| = 405
L ST B A S 480
D) 298F 210-01 (20,0009 X 12% x 28] = 480
H]AF| B Al 8 2 B ok 14,122 13,362 760
]/t A & gL E kA 2 14,122 13,362 760
L. w3 in] A 2 Bl B Qe 500 500 0
7F G g F 500
) gog= 210-01 |50,0009 X 10%= 500
2. 2AAL 1,000 600 400
b e E 210-01 50,0009 X 20% = 1,000
3. A B e A a8 12,622 12,262 360
7b B 310-01 |160,0009 x 3% x 129 = 5,760
U, A1) 310-01 |6,000€ x 3% X 2409 = 4,320
o}, B 310-01 |2,600€ X 3% x 240 = 1,872
2}, 1] En 310-01 |290,00091 x 29 = o280
IR 310-01 |30,00091 x 3% = 90
AT 38,660 56,330 A17,670
SRR 38,660 56,330 217,670
1. 53 A GAEYFA 1,240 1,240 0
7b o9 210-01 20,0009 X 25% = 500
. 23 A = 210-01 |20,0009 X 25%= 500
o}, & o] 5] 230-02 15,0009 X 87 x 28] = 240
2. A2 AHA A 37,420 52,610 A15,190
7h A 37,420
1) AF3(31) 620-11 |37,420,0009= 37,420
A7 & 2 102,323 75,324 26,999
FHANLEERTY 102,323 75,324 26,999
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H ol a7 94 )
[e) 1=}
?};3 fg At = AbE ) 20179 (A) | 2016W(B) (A-B)
1. & - T/HANAF 7,860 7,820 40
7} 9 &E 20,0009 X 21F x 43| = 1,680
L, 22 A = 12,0009 X 70%-= 840
|2 A s e g e e 1,000,000¢ x 33] = 3,000
2 B A 0 8 A 80,0009 x 3% x 43| = 960
ul, & o] 3] 15,0009 X 117 x 43| = 660
vl B A ) 60,0009 X 17 x 129 = 720
2. Hn A A A= 6,000 5,000 1,000
7}, #H w ke 6,000
1) 2538w 1,000,0009 X 53.= 5,000
2) ¥E= 1,000,00091 X 13.= 1,000
3. 71t A A ¢ 25,440 0 25,440
7}, EXueld] (AFS-A]) 25,440,0009 = 25,440
4. TEAAEAFFA 3] 1) 63,023 62,504 519
7F. A A2 A 3] ) 63,023,0009 = 63,023
B A )| x) A & 2,877,118 2,348,364 528,754
A uj) 2] A) 2 7 2,118,110 1,966,461 151,649
1. S X P T332 600 600 0
7} S ex 20,0009 X 4% x 38] = 240
it} g 9] 3 15,0009 x 89 x 33] = 360
2. 2t Ax ¢ 2,061,905 1,901,101 160,804
7}y, B8 Al A Q) 1,000
1) $98% 500,0009 x 23] = 1,000
. Se gk m 1,000
1) 298F 34,0009 X 10% x 23] = 680
2) A5 A=+ 1,00091 X 100%-= 100
3) AR () 220
7h 7|8 70,0009 X 17 X 28] = 140
W) =3 40,0009 X 17 x 24| 7k= 80
o} AAH A2 (340) 1,783,291,00091 = 1,783,291
g2}, el A A 105,000
1) 23 (349%) 105,000,00091 X 1t} = 105,000

— WA — S A — sk A A 8 )
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Aty S-A= ArEue 20179 (A) | 2016€E(B) (A-B)

uf, FH A EAFQIZA H] 620-01 |10,848,0009 x 9% = 97,632

vb, &8 A H 73,982

D F=4 (1) 620-03 |7,724,0009 = 7,724

2) =58k (8h) 620-03 |66,258,0009= 66,258
3. S AEs Y 55,605 64,760 A9,155

7}, @A 8 A9 (511) 620-03 |55,605,0009 = 55,605
w2 =Y 759,008 381,903 377,105
1. A st/ w3 u x4 759,008 381,903 377,105

7}, w7 746,008

1) wjArE (7H) 746,008

b w7 438,008

(1) A En) 430-01 |438,008,0008 = 438,008

W) 29474 308,000

(1) MaAan =Y 620—03 |11,000,0009 x 28353 = 308,000

L 7H - H] 2,000

D) ¥jabx= OF) 2,000

7h 8= 210-01 (50,0009 X 23%= 1,150

) o) 220-01 |20,0009 X594 x 43| = 400

th & ol3] 230-02 15,0009 X 69 x 53] = 450

= R RoRd B R e 11,000

1) w28 A A OF) 11,000

b N 7n =< 620—-03 |11,000,000€l x 18+53= 11,000
TEF] ) 29,326 21,818 7,508
FUREF A S 29,326 21,818 7,508
1. 8789 9¢3 A 10,526 8,018 2,508

7h Stug-d L dds 9,206

1) $98% 210-01 |40,00049 X 25% x 38| = 3,000

2) A=A = 210—-01 |5,0009 X 110%-x 28] = 1,100

3) AR (5E) 800

7h 7] 210-06 |300,000¢ x 17 x 28] = 600

W) 23} 210-06 |200,000¢1 x 17 = 200

4) Akl atw 210-07 600,000€ x 2t = 1,200
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il s B e eSS R A Sl R B (9] - )
[e) 1=}
Hopnw ﬁg j%; ﬂg A1 el e A 201749(A) | 20169 (B) | F#(A-B)
5) &<]3 230-02 |15,0009) x 207 x 43] = 1,200
6) 721N 310-01 |3,0009 x 1229 = 366
7) 211 310-01 |7,000€1 x 1107 x 23] = 1,540
U ostuegedadd 1,320
1) $ojgx 210-01 |20,0009 X 5% = 100
2) AXE 2=t} 210-06 70,0009l x 11 = 770
3) &9 3 230-02 |15,0009) x 157 x 23] = 450
2. R TR AsH]Y 18,800 13,800 5,000
7h Aol r Y 3] 3,500
1) ¢98= 210-01 [20,000€ X 15%= 300
2) A=A 210-01 |2,400€) X 500%= 1,200
3) 7+21H] 310-01 |3,0004€ x 200% = 600
4) 211 310-01 |7,000€ x 2007 = 1,400
L R R R s 12,300
D oy el 33l 12,300
7hH *9e= 210-01 47,2009 X 10F x 53] = 2,360
) A=A 2 210-01 |4,0009 X 430%-= 1,720
) F (X3 2} b)) 210—06 40,0009 x 2% x503] = 4,000
2h) A}3| A2 210-06 |150,0009 x 1% = 150
o) A|AdAaE 210-07 |2,030,0009) x 13]= 2,030
Hh) An) 310-01 |7,0009 X607 x 43| = 1,680
AP 7FA1H] 310-01 |3,0009 X607 x 23] = 360
o, SR Aol A 3,000
1) $98= 210-01 |20,0009 x 28%F x 23] = 1,120
2) A2A 2k 210-01 |5,0009 X 754 x 28] = 750
3) AT (L) 210-06 |70,0009 x 27 x 23] = 280
4) 7HA1H) 310-01 |3,000€ X607 x 23] = 360
5) 2] 310-01 |7,0009 X707 x 18] = 490
Al A # e 319,909 320,626 AT1T
A AR # 2 319,909 320,626 ATIT
1. A 2ALE #3144 319,909 320,626 AT1T
7h St A A e 279,909

— R AW - AR — A A B
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AR S AEU S 2017 (A) | 20161 (B) (A—B)

1) S A A &= #he] 8o 279,909

7H A5 220,378,000 = 220,378

) HA T LA 57,658,000¢ = 57,658

oh) AR 1,873,000 = 1,873

L st Al A S 8 F R 5,000,000 x 23L.= 10,000

t} stusEA 30,000,0009 X 1 7= 30,000
-3 & 1,865,290 1,369,590
71Eg 497,870 2,170
J—]r_%x]%@%tg 497,870 2,170
1. 71245531 28,840 40

7F 7137) 2 7 v 28,840

1) 7] 832 A3 F =2 1] 400,00091 x 129 = 4,800

2) 7] T Z=An) 21,000,000¢ = 21,000

3) AL FEF=A0) 40,0009 X 767 = 3,040
2. 7124 Ay 231,758 26,828

7F AR N (52 A 7)) 5,998

1) AFE (EA) 900,000 X 5t = 4,500

2) EUE 250,0009 x 5t = 1,250

3) AE7) 62,0009 x 4t = 248

. 33w LAA 80,304

1) A718+ 4,200,000 x 129 = 50,400

2) dAsta = 1,700,0009 x 129 = 20,400

3) Ao 300,000 x 129 = 3,600

4) $HQ = 200,0009 x 129 = 2,400

5) TVSAu4a 12,0009 x 129 = 144

6) WEFEURISS 700,0009 = 700

7) B 180,0008 28] = o0

8) HI| &g Fh= 400,0009 x 53] = 2,000

9) AARZRIZ 300,0009 x 13] = 300

o}, AFEE A AN A 22,100

) A FE] (24 900,000¢ x 17t = 15,300

2) EUH 250,000 x 20t = 5,000

W5 - w5 2298 - ¥ S5A LA 47/51




AR S A5 AEU S 2017 (A) | 20161 (B)
3) ZUE (A4) 430-01 |600,000¢ x 3d]= 1,800
2}, R AT 41,490
1) A7 A AFT5 210-01 |250,0009 %129 = 3,000
2) g 210-01 |2,000,0009 x 129 = 24,000
3) AALE 210-01 |30,0009 x 40%= 1,200
4) W} r=g o 210-01 |120,0009 x 129 = 1,440
5) W7 A A 8 210-01 [200,0009 x403] = 8,000
6) 2utve] g 210-01 |200,0009 x12¢ = 2,400
7) w3l ae] 2} 3] 1) 210-01 |50,0009 x 17 = 50
8) &) 210-03 |200,0009 x 79 = 1,400
vl A 8] H-A 25,659
1) 2833 210-09 |400,0009 x 23] = 800
2) A<=7) 7] 210-09 |45,0009 x4t x 12¢ = 2,160
3) AL2=7g] 210-09 |500,0009 x 63] = 3,000
4) A AH)GA B2 210-09 |100,0009 % 108] = 1,000
5) 7| EFA RS 210-09 |150,0009 x 129 = 1,800
6) A 262 7] 210-09 |689,9009 x 10| = 6,899
7) 3 A 7] 3 A 210-09 |5,000,0009 x 1t]= 5,000
8) 7\ 430-01 |250,0009 x 10t) = 2,500
9) 9=} 430-01 |250,0009 x 10t) = 2,500
up, g2 20,089
1) t&E %58 (30,000kne] %) 210-10 |10,238,0009 x 1t]= 10,238
2) ¥ 53 (10,000kme]”d) 210-10 |9,851,0009 x 1th= 9,851
Ab AR 7B Y] 9,698
D A8ET5E 210-01 |18,0009 x23% x 129 = 4,968
2) 9&elx 210-01 |18,0009 x 1007 = 1,800
3) wEHA 210-01 [110,000¢ x 3@ = 330
4) AFEohe|E e 210-01 |50,0009 x 47 = 200
5) AAEA7| A AR 210-07 |200,0009 x 122 = 2,400
of, A ¥ 26,120
1) FeolAan g 210-01 |160,0009 x 122 = 1,920
2) ARGk 210-06 |50,0009 x 119 = 5,950
A SR A | g - 71 - AH5AAH Y 48/51




Apedu e =S s 2017 (A) | 2016€(B)
3) Ak 210-06 |50,000¢ x 3659 = 18,250
2}, 21 =) A} 210-01 |300,000¢) x 13]= 300
3. BA 7| 2893 AH) 237,272 228,314
7h A Y 70,570
D) dR-gn] 9,520
7} Bk 210-01 |1,200,00091 = 1,200
) 7Hele 210-01 |416,0009 x 20 = 8,320
2) EtujAlH) 210-05 |7,0009 x 207 x 463]= 6,440
3) BA-&dgH =31 230-01 |350,000¥ x12€¥= 4,200
4) on] 49,210
7hH ) 220—01 20,0009 x19% x523]= 19,760
) Eu) 220-01 40,0009 x19% x308]= 22,800
H =9 220—01 70,0009 X197 x 53] = 6,650
5) A M I FZ=%11] 250-02 100,000 x12¢¥= 1,200
. A A3t 112,012
D) dRk-gn] 18,256
7} Bk 210-01 |1,200,0009 = 1,200
) il 210-01 |416,0009 x 419 = 17,056
2) E2uj 2] 210-05 |7,00091 X417 x 4838 = 13,776
3) FALD AT T 4,860
7H 44 230-01 |350,0009) x 129 = 4,200
W) 23} 230-01 |5,000€ x 11 x 129 = 660
4) on] 73,920
7hH # 220-01 |20,00091 x42%g X 328]= 26,880
) T 220-01 |40,0009 x 42% x 213 = 35,280
H =9 220—01 70,0009 x 427 x 43] = 11,760
5) A AMFAF =1 250-02 100,000 x 129 = 1,200
U g A A 54,690
D) dHk-gn] 7,440
7} B 210-01 |1,200,0009 = 1,200
) 7]l 210-01 |416,0009 x 154 = 6,240
2) E2uj 2] 210-05 |7,000€ X 157 x408] = 4,200
A SR A | LYH - AEALGY 49/51




RS A STA R Rk (T : H9)
o \=]
o I REEE %A% RENE 20179(A) | 2016W(B) | 7(A-B)
3) F-A g A 230-01 |250,0009 x 129 3,000
4) ofn] 38,850
71 220-01 |20,0009 X157 x483]= 14,400
W) = 220-01 |40,0009 x 157 x 323 = 19,200
t}h) %9 220-01 |70,0009 x 15 x 58] = 5,250
5) AWML= H) 250-02 |100,00091 x 129 = 1,200
TSP 7| BAA 1,367,420 0 1,367,420
FSA LA A B 1,367,420 0 1,367,420
1. 2SR LIA A 1,367,420 0 1,367,420
7h B A AR S s (A57) 69,579
D) A5z A2 52,405
71 F78 (FALE) 420-03 15,0009 X 400m'= 2,000
W) 238 W4R) 420-03 |233,0009 X 50m= 11,650
) 7% (FALE) 420-03 |5,0009 % 375m'= 1.875
2h) I (=) 420-03 |233,0009 X 40m= 9,320
v} =) (3 2) 420-03 |284,0009 X 50m= 14,200
vl e R 420-03 |1,670,0009 x 84 = 13,360
2) A A E ] 420-05 |52,405,0009 X 1.074%= 563
3) AHAHH 5] 16,611
7 AL T 430-01 |16,611,0009 = 16,611
. A AA 2R S5 3 2 A 205,887
1) A A 420-01 |133,600,0009 X 7.614% X 80%= 8,138
2) AlAdn] 133,600
7}) g 420-03 |14,920,0009 x 54 = 74,600
W) yreg 420-03 |1,670,0009 x 54 = 8,350
) ZEwA 420-03 |3,220,0009 x 54 = 16,100
2h) W) 420-03 |6,910,0009 x 524 = 34,550
3) A E ) 420-05 |133,600,00091 % 0.1%= 134
4) AALH En) 430-01 |64,015,00091= 64,015
t}. Al 1WeeAlH 244,071
1) A A 420-02 |231,360,0009 X 6.636% % 70%= 10,748
2) WA 420-03 |77,120,0009 x 34 = 231,360
& - & Hd e - nSFH AN - A SFA YA 50/51




e e B = SR EA s R B (The] : H )
74 o )=
poryy f2 | TR AT NI 2 4% Ao} 20179(A) | 20169 (B) | Z7(A-B)
3) A FH] 420-05 |231,360,0009 X0.2%= 463
4) o] An] 210-01 |1,500,000¢= 1,500
2}, o) abuby w S Al E] o] A 500,000
1) o] #H] 210-01 [3,500,0009 x 13]= 3,500
2) A Am] 420-02 |363,100,000¢1 X 6.505% % 80%= 18,897
3) AlAdH] 420—-03 |72,620,0009 x54 = 363,100
4) Y7 420-03 16,910,000 x 54 = 34,550
5) A EjjH] 420-05 |397,650,000¢ X0.3018%= 1,201
6) WHAIAEH 7] 430-01 |78,752,0009 = 78,752
uf, AgAA 347,883
1) AAMm) 420-02 327,960,0009 X 6.0746%= 19,923
2) Al 327,960
7H WA A A 420—-03 [6,910,0009 x21¢)= 145,110
) HA4=A 420-03 11,080,0009 x 152 = 166,200
o) =M w A 420-03 [1,110,0009 x 154 = 16,650
W& - THUY - 7| A - A SYF A - w S E T 51/51




